202100 0DDODO0ONNO00O DO 1100oooo(Coog)

202100 O0OOOIIO0O 01100000 @OoOon)

00 1]

000000000 R=100[QO000000 f =
5 kHz]O fs = L [kH7) 0D 1-10000000 KO
000000000000

= 1-1
wo .0, ( )
Wi = whw (1-2)
L1 le — wg
—L =-1 1-3
2R ( wy (1-3)
Li(wized) (1-4)
2 wp,

(1) (1-1)00(1-4)0000000000000 Ly, O
ROwOw,0000000(0D000000000)

(2) 0000000 Ly HOOOOO

(3 DO00UDDOO0OO ¢, [Flopoooo

L

7 20
o—"""—|—9——o0
-
O O

01-1.:0KOOooooo

good

(1) (1-3)00 (1-2) 000000

& le — WhW]
2R wy

L

|
|
—_

gl% (wl —wh) = -1
2R
Ly = R (1-5)
(2)
L 2R R
Y (- f) (- )
100
(10 — 5) x 103
2 x 1072 [H] (1-6)
(3) (1-1)000
1 1

40 EO OO

g

goo

Cy

1
Lidr2 fifn
1
2x 1072 x 4 x (5 x 103)(10 x 103)
1
8 x 1072 x 50 x 106

1
— =025 x107%[F 1-
T 106 0.25 x 107 [F] (1-8)




202100 0DDODO0ONNO00O DO 1100oooo(Coog)

0o 2]

000000000 R=100 Q000000 f =

3 kHZO fr, =L [kH7] 00 KOODOOOOOOODO
0ooog
Ly

b _pe (2-1)
2

w2 = whw (2-2)
L1 wlwg

— =1 2-3
oR (wg —u? (2-3)
L1 whwg

= =-1 2-4
2R (wg - w? 24

(1) (2-1)00(24) 0000000000000 Ly O
ROwOw,010000000000000000)

(2) 000OO00OO0O0 Ly, HOOOOO

(3 0000000 G, [FloOoOooo

L
2

O

021 0KOOOODOoooo

[O0]

(1) (2-3)00 (2-2) 000000

2 2
Wy — Wy

L1 wlwg
2R

ﬁ wfwh _
2R \ wiwy, — w? N

Ly ( wWiwp

E Wh — Wy
L = 2R (2.5)
WiWh
(2)
I — A7 R(fn — f1) _ R(fn— f1)
! A2 fy mfifn

100 (£ — 2) x 103
T2 x 103 x 22 % 103
100 x 5 x 10°
50 x 109
= 1x107? [H] (2-6)

2
(3)
L
Cy = R_; (2-7)
0Dooo
o, = X7 0sm (2
2 1002 i



